

۱، ۵، ۱۲، ۲۲

$$1^2 + 0 + 1^2 + 1 + 3^2 + 3^2 + 4 \rightarrow n^2 + \frac{n \times (n-1)}{2} \rightarrow 1 + 0 + \frac{1 \times 9}{2} = 1 + 4.5 = 5.5$$

۵

$$0, 1, 3, 4, 10 \rightarrow \frac{n \times n - 1}{2} = 50 \rightarrow n(n-1) = 110 \rightarrow n = 11$$

۵

$$5, 9, 13 \rightarrow 4n+1 \rightarrow 4 \times (11+1) = 48$$

$$4\omega + 1\omega = 13\omega$$

$$5+0, 9+3, 13+4, \dots \rightarrow (4n+1) + 4(n-1) \rightarrow 4\omega + 4\omega = 8\omega$$

۱۱

$$\frac{-1}{1} + \frac{1}{2} = -\frac{1}{2}$$

$$\frac{1}{1} - (-1) = \frac{1}{1} + 1 = \frac{2}{1}$$

۲

$$b_n = (-2)^n - v_n \rightarrow (-2)^3 - v(3) = -8 - 21 = -29$$

$$a_n = -a_{n-1} + 22 \rightarrow -a_{n-1} + 22 = -29 \rightarrow a_{n-1} = 51$$

۲

$$a+b=10 \rightarrow 10a+b - 4a+b=12 \rightarrow 6a=12 \rightarrow a=2$$

$$4a+b-a+b=0a=2$$

۲

$$4a+b=10 \rightarrow 4 \times 4 + b = 10 \rightarrow b = -6 \rightarrow 4n-1$$

$$4a+b=7$$

$$4a=1$$

$$a=0.25$$

$$0.1 = 4-1=3$$

$$2.2 = 12-1=11$$

$$3, 11, \dots \rightarrow 4n-1$$

۱

$$4n-1$$

$$\frac{2}{3} \rightarrow \frac{4}{9} \rightarrow \frac{10}{9} \rightarrow \frac{14}{11}$$

$$\text{all} \rightarrow \frac{4n-2}{2n+3} < \frac{2}{1} \rightarrow 4n-2 < 4n+6$$

$$4n < 12$$

$$n < 3 \quad \text{d.g. } 4n-2 < 4n+6$$

$$0, 4, 9, 9, 4$$

$$C=0$$

$$-1, 0n^2 + Bn = 4$$

$$-1, 0 + B = 4$$

$$B = 4$$

$$\text{all} \rightarrow -1, 0n^2 + 4n$$

$$4A + 0B = 4(-1, 0) + 0(4) = -4$$

$$-4, -4, -4, 0$$

$$C=-4$$

$$an^2 + bn + C$$

$$\text{all} = n^2 - n - 4$$

$$n^2 + bn - 4 \rightarrow -4$$

$$1 + b - 4 \rightarrow -4$$

$$b = -1$$

$$1 - 1 - 4 = -4$$

$$0 + 11 = 11$$

$$24, 21, 24, 21$$

$$21 - 24 = -3 = 2d \rightarrow d = -1.5$$

$$an + b = 21$$

$$0(1) + b = 21$$

$$10 + b = 21$$

$$b = 11$$

$$0n + 11$$

$$an + 11 = n^2 - n - 4$$

$$21 = n^2 - n - 4$$

$$21 = n(n-1) \rightarrow n=9$$